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Leq L10 L90 (=/8)
ERILA 2 2011.12.29 68 69.6 65.6 75 o=
BRI 1 2011.12.29 68.4 71.6 63.5 75 2
ESRILA 2 2011.12.21 63.2 64.7 61.3 75 o=
ESRIDA 1 2011.12.21 64.5 66.5 61.8 75 =2
ERILA 2 2011.12.12 63.9 65.7 62 75 o=
ESRIDA 1 2011.12.12 64.3 66.4 62.3 75 2
ERILA 2 2011.12.06 67.8 69.5 64.8 75 o=
ERIDA 1 2011.12.06 66 67.8 64 75 2
ERILA 2 2011.11.30 65 67.1 63 75 o=
ESRIDA 1 2011.11.30 63.7 65 62.5 75 =2
ERIDE 2 2011.11.24 64.6 66.3 63.2 75 =
AL 1 2011.11.24 65.4 66.8 63.5 75 =
ERIDE 2 2011.11.16 66 67.7 63.2 75 =
ESAING 1 2011.11.16 64.9 66.6 62 75 =
ESRIDE 2 2011.11.07 62.6 64.2 60.3 75 =
ESAING 1 2011.11.07 64.1 65.4 61.9 75 =
EEAING 2 2011.11.01 63.5 64.7 62.2 75 =
ESAING 1 2011.11.01 63.4 64.8 60.7 75 =
ERIDE 2 2011.10.26 63.3 64.6 62 75 =
ESAING 1 2011.10.26 62.6 64.4 60.7 75 =
ESRIDE 2 2011.02.09 62.8 64.8 60.8 75 =




